mn= R

2013 =F 5 5| 21 |

# ?F%E* JHEREE | L R (“RIA 5«‘ . ”) ﬁi{ﬁ}’é( =4 B
= ?Fgﬁf\i??‘?lf’-i&“ I RICRE 2 R

TS~ E J%ﬂ%ﬁj FUT pLilEe

T RTINS (Rl G ST A 22 PR RS P

T pLY FIi4 E J%E%é‘? FVEEE | BIEY Epl i IS SV vy fEH(H) 8 (S (L)
UBS AG 2013 % 5 5[ 20 [ ! ?’giﬁ]ﬁ&“z = 70,000 (Il ) 23.10
(= l’:;éi%'f) 21.85
2013 F 5[ 20 [ ! 7 SULI T 792,000 (It ff) 23.00
(= [5fET) 22.00
2013 F 5[ 20 [ ! ?}{E}EJ&“ ' 62,000 (It ff1) 23.05
(& r:;él"a) 22.80
o

1 UBS AG KL= 0 FTJIEB Ik o | ET R T AR BN (2) R 2 il S
2. PRI B l‘j\ﬁug PR AR -

3. t L ET R RO R R UER )

4, PR -

lof1l



